Tt seems like theve 15 Some nformation \m\%knfj W Your descvigtion,
sgeci€ically the lenath of the Squave’s sides and the wognitudes of
the goSitive ChOvaes ot the two cornevs. Tan ovdev to calcvlate the

electvic gotential enevgy of O thivd chavge at cornevs A and §, T
would need these mi%‘tnﬁ valves.

However, T can provide Jou with the aeneval Covwvla to calcuvlate the

electvic gotential enevay between point ChOvges. The electvic
gotential 2nevay
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sepavated by a distance
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v can be calcvlated ue'mcj CoVlomb's \aw:




